


№ 26.1(а,б) Преобразуйте выражение в многочлен 
стандартного вида:

= 2х3 + 10х2 + 6х

= – 2х3у – 4х2у2 + 2ху3

№ 26.2(а,б)

= х3у2 + х2у3

= – р8q8 – 3p6q9 + p5q12



№ 26.3(а,б) Преобразуйте выражение в многочлен 
стандартного вида:

= 3х2 + 3ху – 3х2 = 3ху

= 7а2 – 7аb – 7а2 = – 7аb



№ 26.4(а,б) Преобразуйте выражение в многочлен 
стандартного вида:

= 3х2 – 15х – 5х2 – 15х = – 2х2 – 30х 

= 2ху – 2у2 

=

=

+ 3у2 – 2ху = у2 



№ 26.5(а,б)

= 10х2 – 15х – 10х2 + 5х = – 10х = 0,1 

= 24 – 12р + 29р – 9р – 9 = 8р + 15

2 17



№ 26.19

6х(х – 3) – 9(х2 – 2х + 4) =

= 6х2 – 18х – 9х2 + 18х – 36 = – 3х2 – 36 < 0 



*

К л а с с н а я    р а б о т а.

Умножение многочлена на 
одночлен. 



№ 26.6(в,г)

2х + 6 – 6 + 21х = 2х – 4 

23х = 2х – 4 

23х – 2х = – 4 

21х = – 4 
21 21 

х = 

Ответ: 



№ 26.6(в,г)

15х – 10 = 3х + 3 – 2х – 4 

15х – 10 = х – 1 

15х – х = – 1 + 10 

14х = 9 
14 14 

х = 

Ответ: 



№ 26.9(г)

8х2 – 40 – 5х2 – 10х  + 10х + 40 = 0  

3х2 = 0 

х = 0 

Ответ:  0 



 



№ 1 Решите уравнение:

2х – 3 = – 15

2х = – 15 + 3

2х = – 12 : 2 

х = – 6

3 х
1 0 х- 6



№ 2 Решите уравнение:

5(х + 7) = 3(2х + 3)

5х + 35 = 6х + 9

5х – 6х = 9 – 35 

– 1х = – 26 : (- 1) 

х = 26 

3 х
1 0 х2 6



№ 26.8(в)

6х  = 3х – 3 

6х – 3х = – 3 

3х = – 3 

х = – 1 Ответ:  – 1 



№ 26.14(в,г)

1

4

1

2

1

=

= 4b3(b2 + b – 1) + 2b2(b3 – 3b2 + 4) =

= 4b5 + 4b4 – 4b3 + 2b5 – 6b4 + 8b2 =

= 6b5 – 2b4 – 4b3 + 8b2



№ 26.14(в,г)

20

1

30

1

=

= 20а(13а3 – 12а2 + 5) – 30а2(4а2 + 12а – 1) =

= 260а4 – 240а3 + 100а – 120а4 – 360а3 + 30а2 =

= 140а4 – 600а3 + 30а2 + 100а



№ 26.12

I. v, км/ч

П-С
С-П

t, ч S, кмВел-т

10

15

х
х – 1 

10х
15(х – 1) 

10х 15(х – 1) = 

II. 10х = 15х – 15 
10х – 15х = – 15 

– 5х = – 15 

х = 3 III. S = 10 · 3 = 30 км

Ответ:  30 км



У: стр. 107   § 26

З: § 26   № 6(а,б); 7(а,
б); 8(а); 
9(а,б). 


